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log(ADC) vs. log(HV)

a | B H

[trgeL] ™ Ttrg6R

trg3L | 3.32E-17/ 5.74 2008
trg3R | 5.67€20 667 1801
trgbL | 198617 58 1801
trg6R | 5.43E-18) 6020 1894
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trg5R | 7.69E-170 567 1894
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trg2R | 4.87E-25) 8100 | 2020
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Plan

o will get data taken with counters laid on the
ground before installing the system and analyze
them
. got data w/ 600,000 events
(crude gain calibration)
and will analyze them
- horizontal / diagonal?

24 hrs -> 100,000 events -> 4,000 horizontal events
-> choose diagonal events -> but after cuts, ~30 events for each TOF
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Back-up



[side view]

o trigger condition:
(trg1+trg3+trgd) « (trg2+trg4+trgo)
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trg3 trg4 dowpstream
35 3 99 71 120 10*
3
trgb trg6 .
"9 25 2 963 229 56 107
2

/ |

|llll|llll|Illl|llll|llll|Illl|llll

10°7
j v 15 86
downstream N
upstream osf 3
oo— ols = '1.Is = é 2‘5 :I; = '3.15' 3 1
upstream

15 Sep. 2014 11



[side view ‘ ‘E

| - asf 99 71 120
trg1 ] | trg2 25: 963 229 56
| 1.5%_ 810 86
trg3 | :

trg5 ||

2

15 Sep. 2014 trg1 tr93 trg5 12



((TDC[0]-TDC[0])-(TDC[1]-TDC[0]))/2 : ((TDC[2}-TDC[0])-(TDC[3]-TDC(0]))/2
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Entries 7534
Mean -177.4
RMS 81.33
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